Ilosacnrwoeanvra 3anucka

Marepianu TecTy 1 OLIHIOBAHHSA PiBHA HABYAILHUX JOCATHEHb YYHIB 3 aHTIiHchKoI MoBH B 10 Kiaci
3araJIbHOOCBITHIX HaBYAJIbHUX 3aKJIAMIB ITiATOTOBIEHO BiAIIOBiAHO 10 YMHHOI HaBuanbHOIl IIporpamu 3
iHO3EeMHHUX MOB.

3micT i dpopMaT TecTy BpaxoBye roOJIOBHY METy HABYAHHSA IHO3EMHOI MOBH y 3arajbHOOCBITHIX
HABYAIBHUX 3aKIamax — OPMyBaHHS B YIHIB iHIIIOMOBHOI KOMYHIKATHBHOI KOMIIETEHTHOCTI Ha I'PyHTI
KOMYHIKATUBHUX YMiHb, C(DOPMOBAHUX HA OCHOBI MOBHUX 3HAHb i HABUYOK.

O0’ekTaMn TecTyBaHHA BU3HAYAIOTHCA UYUTAHHA 1 HHUCHMO SK BHAY iHIIIOMOBHOI MOBJIEHHEBOI
IIAIBHOCTI, 4 TAKOXK JIEKCHYHUH 1 TpaMaTHYHUH acleKTH (BUKOPUCTAHHSI MOBH).

3MicT TeCTOBHMX 3aBaaHb OyIyeThCd Ha aBTEHTHYHHX 3pasKaxX MOBJIEHHS, MIPUHHATOTO y Benukiii
Bpurawnii, ta Bigmosimae chepam i TeMaTHIli CHTYaTHBHOTO CIIIKYBAHHS, BH3HAYEHHUM HABYAIHHOIO
IIPOTPaMOI0.

3aBiaHHA A BU3HAYEHHA PIiBHA C)OPMOBAHOCTI KOMIIETEHI[ii B YHTAHHI OpPiEHTYEThCA HA
PO3YMIHHS yYHAMHK OCHOBHOI iH(popMarTii.

3aBgaHHsa IS BU3HAYEHHS pPIBHI cOPMOBAHOCTI KOMIIETEHIIii B IIMCBMi 30pieHTOBaHi Ha
BHUKOHAHHS KOMYHIKaTHBHO-TBOPYOT0 BUAY AiSIHOCTI: HAITMCATH €CE Ha 3aIlIPOIIOHOBAHY TEMY, II0B’ I3aHy
3 iHTEepecaMu Ta KOMYHIKATUBHHMH II0TPe0AMH YYHIB OCHOBHOI IIIKOJIH, IO Y3TOIKYIOTBCA 3 BUMOIaMK
HaB4YaJIbHOI IIPOTPAMH.

KouTpoapb mekcrymoi Ta rpaMaTHYHOI KOMITETEHIN] (BUKOPUCTAHHA MOBH) Iependadac BH3HAUEHHS
PpiBHSA c(pOPMOBAHOCTI JIEKCHYHHUX 1 rpaMaTUYHKUX 3HAHB 1 HaBU4YOK. OKpIiM TOro, TECTH MiCTATh 3aBIaHHS,
1[0 KOHTPOJIOITH 00CAT COIIOKYIBTYPHUX 3HAHb.

PisuopiBHesi 3aBnanus 36ipHuka 3rpymnoBano y 10 piBHOBHAYHUX BapiaHTis.

Ko:xuuii 3 BapiaHTiB CKIagaeThCA 3 5 TECTOBUX 3aBIAHD IT0YATKOBOTO piBHA (1-5), 11 TecToBUX 3aBaHb
cepenuboro piBusg (6-16), 8 3apmaub mocraruboro piBua (17-24) ta 1 3aBgamHsI BUCOKOTO piBHI (25).
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Cnoeo 00 6uumensa

MoHITOPHHT HABYAIBHHUX JIOCATHEHD 3 aHTIIHCHKO0I MOBH yuHiB 10-X KJIaciB mepen6ayac BUSHAYEHHS
piBHA HabyTOTO HUMHY iHIIIOMOBHOTO KOMYHiKATUBHOTO JIOCBIi/Iy 32 KYypPC OCHOBHOI IITKOJIH.

Mera TecTyBaHHA — BH3HAYUTH AKICTH iHIIIOMOBHOI KOMYHIKATHBHOI KOMIIETEHTHOCTI YYHIB, KA
mae pocartu pisaa A2 (y Tepminax Pagu €sponn).

O06’6KTH KOHTPOJIIO — HABUYKH H YMIHHI YUMAHHA 1 RUCbMQ AK BHAIIB MOBJIEHHEBOI MisILHOCTI Ta
ACKCUYHI, 2paMQAMUYHI, COYLOKYALMYPHI 3HQHHA AK AacleKTH IHIIOMOBHOI KOMYHIKaTHBHOL
KOMIIETEHTHOCTI ITKOJIAPIB.

IIporienypa mepeBipKH: TecTyBaHHS 3MiACHIOETHCS y IIUCEMOBIH hOpMi i CKIIafaeThesd 3 JBOX THUIIIB
3aBIaHb: 1) MHOMCUHHO020 8UOODY 13 3AKPUMOI0 ¢hopMOoio 810n06idi (BUOIp OMHOTO IIPABUIBHOTO BapiaHTa
BiZIITOBifl 3 KiJIBKOX 3aIIpPONOHOBAHUX; BU3HAYEHHS BiAITOBIMHOCTI 10 mpex ABIeHUX 00 €KTIB 3 KiIbKOX
MOJAHUX BapiaHTIiB); 2) meopu020 3asdarHsa (HAIIMCAHHA BHUCIOBJICHHS 3a 3MICTOM 3aIIPOIIOHOBAHOL
MOBJIEHHEBOI CUTYAITii).

Ho6ip TecToBHX 3aBHAHB 3IiHCHEHO BiIIOBIHO 10 3MICTOBHX JiHIH (MOBIEHHEBOI, MOBHOI,
COLIIOKYJBbTYPHOI, miAnbHicHOI) /[ep:KaBHOTO CTAaHAAPTY i 3 ypaxyBaHHAM BHMOT YHHHOI HABYAILHOI
IIporpamu 3 iHO3eMHUX MOB, 3aTBepEeH0I MiHicTepcTBOM OCBiTH i HAyKU Y KpaiHu.

Tect micTuTs 24 3aBHaHHI MHOKUHHOTO BUOOPY 1 1 TBOpue 3aBHaHHA.

3aedanmnsa Ne 1 cipamoBaHe HA BU3HAYEHHSA PiBHA c(pOPMOBAHOCTI B YUHIB KOMIIETEHIIIi B YNTAHHI —
yMiHHSI 3m00yBATH OCHOBHY iH()OpMAIlif0 3 IiHIIOMOBHOTO ABTEHTHYHOIO APYKOBAHOIO :Kepesa
(o3HAMOMIIOBAJIbHE YHMTAHHA). BigmoeigHo 10 3MicTy mpen’sSiBIEHOTO TEKCTy HEOOXiMTHO MIOIMIOBHUTH
KO:KHe HaBeleHe PeUYeHHA OMHHM i3 YOTHPHOX 3aIPOIOHOBAHUX (PparMeHTIiB, TOCTABUBIIHN Y KBaIpaTi
BiATIOBIIHY JTiTEPY.

3aedanns Ne 2 mnepembauae BCTAHOBIEHHS BIiATIOBIAHOCTI: i3 ceMu IIpex sIBJIEHUX OTOJIOIIEHb
HeOoOXiTHO BU3HAYUTH II’ITh, 3MICT IKHMX BiIIIOBiZae OJHOMY 3 HABEIEeHUX KOMeHTapiB. [l Ba Oroaoienssa
3aiBi.

3aedanns Ne 3 vae Ha MeTi BUSBUTH B YYHIB 00CAT COITIOKYJbTYPHUX 3HAHBL. KoxHe i3 1mectu
HaBeJeHUX PeYEHbD BiIIIOBITHO 10 HOT0 KOHTEKCTY HeOOXi HO JOIOBHUTH OAHUM 3 IECSITH 3aIllPOIIOHOBAHUX
(parmeHTiB, YOTHPH 3 IKUX 3aHBi.

3aedanns No 4 npusHaveHe 151 BU3HAYEHHS PiBHA C()OPMOBAHOCTI B yYHIB HABYAIBHOTO JOCBIIY
afieKBaTHO BUKOPHCTOBYBATH JIEKCHYHI Ta rpaMaTHYHI OMWHHUII Y 3MICTi 3alIpOIIOHOBAHUX pedYeHb. 13
YOTHUPHOX BAPIaHTIB HEOOXITHO BUOPATH TOM, 1110 BiAIIOBIa€ KOHTEKCTY PEUEHHS, 1 IOCTABUTH BiAIIOBiAHY
JIiTEepy B KBagpaTi.

3aedanns Ne 5 nepenbadae mepeBipKy piBHA c)OPMOBAHOCTI B YyUIHIB iHIIIOMOBHOI KOMIIETEHIII] y
nuchMi. BifmoBigHO 10 3MicTy 3aIIpoIOHOBaHOI MOBJIEHHEBOI CHTYaITlil He00XiJHO HAIHCATH BUCIOBIEHHS
y MeKax yrasaHoro obcsry (me 6inbine 60 ciiB), BUCBITIIMBIIHN B HHOMY 3aIIPOIIOHOBAHI IyHKTH.

Ha BukoHaHHS TeCTy BiIBOIUTHCI OMAH YPOK (45 XBuanH): opieHTOBHO 30 XBHJIMH HA BUKOHAHHS
MepIInX YOTUPHOX 3aBAaHb i 15 XBHIMH HAa BUKOHAHHS I ITOTO 3aBJAaHHA.

Ilix wac mpoBeIeHHS TeCTyYBaHHA HE MO3BOJAETHCA KOPUCTYBATHUCST OYyIb-TKUMH AUAAKTHAIYHUMU
MaTepianamu (MiApyIHUKAMHU, CIOBHUKAMHY, TOBITHUKAMU, €JIEKTPOHHUMU 3ac00aMu).

0.C. ITaciuauk, M.H. IIlonyako, M.C. Tpidpan, C.0O. MeabHUK
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CrpyKTypa TecTy Ta KpUTepii Horo oliHIOBaHHA

PiBenn . Kinekicts | KinpKicTs 0amiis MaxcumasbHa
3aBraHHsa dopma 3aBIaHb Y TECTi . . .
3aBIaHHS 3aBJaHb 3a 3aBJAHHSA KinbpKicTs G6aiiB
1-5 ITouatkoBuit | 3aBmanHsa 3 BUOOPOM OmHiel 5 0;1 5
IpaBUJIBHOI BiAmoOBimi
6-10 Cepenniit 3aBmaHHs Ha BigmoBimmicTb 5 0; 1 5
11-16 Cepenmiit 3aBHaHHA Ha BiAmOBimHicTHL 6 0; 1 6
17-24 HocratHii 3aBmaHHsa 3 BubopoM onmHiel 8 0;1 8
MIPaBUJIBHOI BigmoBimi
25 Bucorkuii 3aBmaHHa BiIKPUTOTO TUITY 1 0-2; 0-3; 0—-2; 11
0-2; 0-2
Bceroro 25 35

OuixoBaHHSA Pe3yJbTATIB TECTYBAHHS YUHIB 3iHCHIOETHCI BiAMOBIAHO 0 piBHIB c()OPMOBAHOCTI B
HUX IHIIIOMOBHOI KOMYHIKaTHBHOI KOMIIETEHTHOCTI 32 TAKOI0 TEXHOJIOTI€I0:

o 3a60anna Ne 1 (1-5) — KOKHUI IPABUIBHO Mi0paHuil (pparMeHT pedeHHs OIiHIEThCI B 1 6auT;

e 3a60anna Ne 2 (6-10) — xoxHA IPABUIHHO BU3HAYEHA BiAIOBIIHICTD OIIiIHIOETHCA B 1 6a;

e 3a8danna Ne 3 (11-16) — KO:XKHUI TPABWIHHO BH3HAYEHUH (DPATMEHT PEeYeHHS OI[IHIOETHCA B
1 6au;

e 3a80anna Ne 4 (17-24) — KoxHe IPABUIBHO JOIIOBHEHE PEYEHH OI[IHIOEThCA B 1 6aur;

e 3ae0anna Ne 5 (25)- mig uac OLHIOBAHHA BPAXOBYIOTLCA IBA MOKASHUKH: 1) 3Micmose HAnogHe-
HHA 1 2) mosHe ogopmaenns Texcry BuciaoBiaeHud. Ilig gac oriHIOBAHHS 3MiCTOBOrO HANOBHEHHS 1
MOBHOTO 0(QOpPMIIEHHS 6epyThCA 0 YBaru TaKi MOKA3HUKY 1 BU3HAYAIOTHCA TAKi KPUTEPii OI[iHIOBAHHS:

® Bi[MOBiAHICTE 3MIiCTY BHC/IOBJIEHHSA 3aIllpOTIOHOBAHIN HABYaAbHIN cuTyaril — 0-2 6amm;
BHCBITJIEHHS y 3MiCTi BUCJIOBJI€HHS BKa3aHUX IIyHKTIB — 0-3 6aJim;
3B’AI3HICTh BHCJIOBJIEHHA — 0-2 6ajm;

HOPMATHUBHICTH BUKOPUCTAHHSA ¥ BUCIOBIEHH] JIEKCHIHUX OqUHUIE — 0-2 6am;
HOPMATHUBHICTH BUKOPUCTAHHSA Y BUCIOBJIEHH] rpaMaTudHux asuil — 0-2 6ammn.

MakcumanbHa KITBKICTH 0aliB, AKYy MOMKYTb OTPHMATH y4YHI 34 BMKOHAHHA TECTOBHMX 3a4BIAHD,
craHoBUTH 35 6asiB. Bona mudepenIiroeTses y TaAKuii CIiocio:
o
 —

0.C. ITaciunuk, M.H. Illonyako, M.C. Tpicdan, C.O. MenbHUK

e 3apnanusg Ne 1 — 5 6asris;
saBnaHusg Ne 2 — 5 6aJris;
saBnaHusg Ne 3 — 6 OaJris;
saBgaHusg Ne 4 — 8 0auriB;
saBmanusg Ne 5 — 11 6auis.

Ta6anna BianoBimHOCTI HAGPAHUX TECTOBHUX OATiB
PiBHIO HABYAJIBHHAX TOCATHEHD YIHIB

KinbkicTs mabpanux 6ajiB 1-5 6-16 17-24 25-35

Pisenr HaBuanmpHUX JocarHeHb | IlouaTKoBuUit Cepenmiit HocraTHiit Bucokuii




Cnoeo 0o yuna

1. Po6oTy Hag KOKHHUM TECTOBUM 3aBIAHHAM PO3IOYMHANTE 3 IETAIHLHOIO 03HAHOMJIEHHS 3 iHCTPYK-
Ii€o.

2. Bignosigaire nuiie micias Toro, Sk Bu yBaKHO IPOYUTAIIH i 3p0O3yMiiy 3aBIaHHA.

3. HamaraiiTecs BUKOHATH BCi 3aBIaHHA.

4. BigmoBizi BOHCyHTE YiTKO, TOTPUMYIOUYHCH BUMOT IO KOKHOTO BUAY 3aBIAHHI.

5. Bignosizi Ha 3aBmanua 1-4 Buucyiite y 36ipHUEK, a ITOTIM IIepeHeciTh y 6/IaHK BiATIOBigeH.

6. 3aBmanud 5 BUKOHYyHTe 6e3ocepeHbo y OJIaHKy BiAIOBimer.

Yacruna «UuramHa»
(3aedanmns No 1-Ne 3)

Buronyroun 3aBIaHH I1i€l YaCTUHU TeCTy, B1 IIpoAeMOHCTPYETE CBOE BMIHHSA PO3YyMITH AHTIIHCHKY
MOBY Ha MaTepiajiiax pi3HOMaHITHHUX TEKCTIB 3 aBTeHTUYHUX JKepe.

1. IlpaBunsHO posmoinsiite cgiit yac. Ha Bukonanusa 1iei yacTunu Tecty mepenbdadeHo He Ginbine 22
(9, 71 6 BinmoOBigHO) XBUJIKMH BiJ 3araILHOTO Yacy, BiBeIeHOT0 HA BUKOHAHHSA BChOTO TECTY.

2. ¥ 3aedanni 3 eu6opom o0Hiei npasuvHOi 6i0noeidi (Ne 1) cmoyaTKy o3HAHOMTECTd 3
IHCTPYKITIEIO 11010 POOOTH 3 HUM. ¥ BAKHO IIPOUYUTANUTE TEKCT i TBEPIKEHHS [0 HHOTO, a IOTiM 00epiTh
npaBwiIbHUH, HA Barity 1ymMKy, BapiaHT BiIIOBifi i3 4OTHPHOX MOJAHUX.

3. ¥ 3aedanni Ha ecmaHno8aeHHA 8i0nodidnocmi (Ne 2) crouaTKy o3HAoOMTeCHd 3 IHCTPYKIIE
00 POOOTH 3 HUM. ¥BAKHO IIPOYUTANTE OTOJIONIEHHS Ta KOMEHTapi 0 HHX, a4 MOTIM 0 KOMKHOIO
OTOJIOIIEHHS M00epiTh MpaBWIbHUH, HA Baily nymMKy, KomeHTap.

4. ¥ 3a60aHHi Ha 6CMAHO0B/1EHHA Gi0N0GIOHOCMI MIdMC COYIOKYAbMYPHUMU Pealiimu
ma noacHenHnamu (komenmapamu) (Ne 3) couaTky osHaHOMTECS 3 IHCTPYKIIIEO II0A0 poboTH 3
HAM. ¥Ba)KHO MPOYMUTANTE IEPIILY YACTUHY PEeYeHHs, a MOTIM i3 3aIpOIIOHOBAHUX BapiaHTIB 06epiTh
npaBWILHUH, HA Balry nymKy, BapiaHT BiIIIOBITHOCTI.

5. fAxmo Bu He MokeTe BUKOHATH IIEBHE 3aBIaHHI, IIEPEX0bTE 0 BUKOHAHHSA HACTYITHOTO.

Yacruua «IIncsmo»
(3aedanns No 4-Ne 5)

Buxkonytoun 3aBganud 11i€i YacTUHU TecTy, Bu IpomeMOHCTPY€eTe HE JIUIIe CBOE BMIHHA PO3YMITH i
BHUKOPHCTOBYBATH AHIJIIMCHKY MOBY, & ¥ YMiHHSA CTBOPIOBATH BiacHE BUCIOBJIEHHS B MHUCHBMOBIiH (hopmi.

1. IIpaBunbsHO posmnoginaiiTe cBii yac. Ha BukoHanH: i€l yacTuHM TecTy nepemdadeHo He Oiibire 23
(8 1 15 BifIIOBIMHO) XBHJIMH Bijl 3arajbHOTO Yacy, BilBeIeHOro Ha BUKOHAHHS BChOTO TECTY.

2. ¥ 3aedanni nHa 3anoeénHenHs nponyckie (Ne 4) crouaTKy o3HAMOMTECA 3 IHCTPYKIIEIO II0I0
poboTH 3 HUM. YBAKHO IPOYUTANTE PEYEHHS, a IIOTIM 3aIl0OBHITH IIPOIyCKH B HhOMY HEOOXimHUMH, HA
Bamy gymky, rpaMaTidHUMY CTPYKTYPaMu a00 JIEKCHYHUME OJAMHUIISIMH.

3. Ilepwt misrc Hanucamu eaacHe eucaoéneHHs (3aBmanna Ne 5), yBakHO mIpouunTaiite
3aIpOIIOHOBAHY KOMYHIKaTHBHY CHUTYAIlil0 Ta Te3Hu J0 Hei i mepeKoHalTech, mo Bu ii 3posywminn.

4. ITurriTe oxafiHO Ta PO30iPIAUBO.

E[ﬁ]@ﬂﬁ@[ﬁ] W O.C. Ilaciuauk, M.H. IlTonyaxo, M.C. Tpigau, C.O. MenbHUK
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IlTanoeni 6amovru!

Bceeyxkpainchkuii MOHITOPHUHT SKOCTI 3HAHD, YMiHb 1 HABUYOK yUHIB 10-X KJIACiB IIPOBOTUTECA 3 METOIO
OITIHIOBAHHS CTAHy CHCTEMH 3arajbHOI CepegHbOi OCBITH TAa OTPUMAHHS 00’ €KTHBHUX JAHUX CTOCOBHO
PiBHA HABYAIBHUX OCATHEHD IIKOJISIPIB.

Meroro 3asHaueHoro 3axony € BUABIEHHA HABYAIBHUX MOCATHEHb YUYHIB 1 3’ACyBaHHS KiJIBKOX
BaJKJINBHX OCBITHIX IIMTaHb, a caMe:

— fxi sHauHs 3000y/TH JECATUKIACHUEYN 3 THUX YU IHITUX HABYAIBHUX IIPEIMETIB, SKOr0 PiBHA CATAIOTH
iXHi 3araJIbHOHABYAIbHI BMiHHA?

— flxkuit pisens inTepecy 1m0 HaBuaHHA cpopmoBano B yuHiB? [0 AKMX IpeaMeTiB HaBYAILHHH iHTEpec
OLIBIIMIA, a KO AKUX — HeTOCTATHIN?

—Uu BMiOTh yYHI aHATI3yBATH 3MiCT IPOYNUTAHUX TEKCTIB, POOUTH BUCHOBKH, BICJIOBIIOBATH BJIACHE
CTABJIEHHA JI0 HPOYUTAHOTO?

— YUu BMilOTh 3HAXOAWTH HECTAHAAPTHE pIllleHHA B IIPOIECi PO3B’A3aHHA HABYAIBHUX 3aBJaHb,
CaMOCTIHHO IIPAITIOBATH 3 MiAPYYHUKOM, PO3B’I3yBaTH 3a1adi, 3ayJaTy J0AATKOBY iH()OpMAIIiio mif yac
BUKOHAHHS MPOOJIEMHUX 3aBAaHb?

—Yu eheKTHBHO PO3MOAINAIOTE 3yCUIUIS 1 Yac, BUKOHYIOUN HABYAIbHI 3aBIaHHA?

— I romosue, un HaBumawcsa Barmi miTe sacrocoByBaTh 3m00yTi 3HAHHA He JIMIE HA YPOKAX, a U y
MIOBCAKIEHHOMY JKHTTi?

Y4dacTs y9HA B MOHITOpHHrY IomoMo:ke BuHuTeaeBi i Bam orpumarn 006’€¢KTHBHY
indopmaniro po pesyiabTaTH HOro HABYAHHA TAa CIOPHIATHME IIOJIIIIEHHIO CHCTEMHOI
HiZroToBKM MauOyTHIX BUIIYCKHHKIB 10 Jep:KaBHOI IIiICYMKOBOI aTecrallii Ta 30BHIiIIIHLOTO
He3a/IeKHOTO OLliHIOBaHHA. 3a BammM 6axanHaM MOKHA 3iICHATH NOPiBHAJILHUN aHAI3
HABYAJIBHHUX IOCATHEHD YIHS 3 BiIIIOBITHUMH JOCATHEHHAMH OJHOKJIACHHUKIB Ta IOIIOMOITH
30pi€HTyBaTHCA MO0 BAOCKOHAJIECHHS MOJAIBINOI HABYAJIHHOI POOOTH IIIKOJIAPA.

Big Toro, axoro piBua 3HaHBb Hocarume Bara muTmHa B IIKOMI, 3a/I€KUTH 11 mMojasnblile mpodeciiue
HaB4aHHA i gopocie KATTA. O6’€KTUBHI pPe3yIbTaTH MOHITOPUHTY CIPHATHMYTh 3A0X0YEHHIO IITKOJISIpa
10 HABYAHHSA, JOIIOMOKYTh HOMY 3PO3yMiTH, 1110 HABYAHHS — I1e Jy’Ke Ba:K/IMBa i 3HAYYIIA YaCTHHA I[HOTO
nepiony KUTTA. Baima 3aiikaBieHicTh i APYKHA TOIIOMOTA Y IIPOBEAEHHI MOHITOPHHTY JOMAAYTh JUTHHIL
HaCHATH Ta BIIEBHEHOCTI B c00i y Ipolieci HAaBYaJIbHOI AiIIBHOCTI.



KOHTPOJIbHA POBOTA

BapiaHT 1

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

OLYMPIC GAMES

In 776 BC the first Olympic Games were held at the foot of Mount Olympus to honour the Greeks’
chief god, Zeus. The Greeks paid much attention to physical fitness and strength in their education
of youth. That is why contests in running, jumping, discus and javelin throwing, boxing, and horse
and chariot racing were held in individual cities, and the winners competed every four years at Mount
Olympus.

Olympic athletes had to be men of Greek nationality and not slaves. Winners were greatly ho-
noured. People put olive wreaths on their heads, sang songs and wrote poems about their achievements.
Originally Olympic Games were held as games of friendship, and any wars were stopped to allow the
games to take place.

The games were so important to the Greeks that they calculated time in four-year cycles called
“Olympiads” dating from 776 BC.

1. Which of the following is NOT true?

A Winners put olive wreaths on their own heads. D
B The games were held in Greece every four years.

C Battles were interrupted to take part in the games.

D Only Greek men could take part in the Games.

2. Why were the Olympic Games held?

A to stop wars I:l
B to honour the best athletes

C to honour Zeus

D to sing songs about the athletes

3. How many years ago did these games begin?

A 776 years D
B 2,277 years
C 1,237 years
D 2,789 years

4. Which of the following contests was not mentioned?

A discus throwing D
B skating

C boxing

D running

5. What conclusion can we make about the ancient Greeks?

A They liked to fight. D
B They were very athletic.

C They liked a lot of ceremony.

D They couldn’t count, so they used “Olympiads” for dates.

0.C. ITaciuauk, M.H. IIlonyako, M.C. Tpidpan, C.0O. MeabHUK




Task 2. Match statements (6-10) to the notices (A-G).

6. Phone this person if you want to work with cars.

7. You cannot use your phone.

8. People here do not understand English very well.

9. If you find what this person is looking for, you will get money.

10. You have to use stairs.

[A|Only French and German B]Turn off your mobiles } welr(r;rlzniz'lzg(l:ﬁrrln;;enie d
ken h during the 1
spoken here uring the lesson - by women
[D|Mechanic needed. [E|Lost passport.
Call garage manager Name Harrison Boyd.
(Fred Bagging 790878767) £50 Reward for safe return.
— Phone 6798909.
[F|Elevator ’ [G]Tap water is safe to ’
OUT OF OR% drink here

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

0.C. ITaciunuk, M.H. Illonyako, M.C. Tpicdan, C.O. MenbHUK

11. Buckingham Palace ...

12. Yellowstone National Park ...
é 13. Nelson’s column ...
14. The Washington Monument ...
%
—
—
{5

is in the centre of Trafalgar Square in London.

is one of the largest parks in central London, famous for
its Speakers’ Corner.
is a pencil-like obelisk.

is the home of the British queen.

15. The London Eye ... is an American national monument built to honour the
16th President of the United States.
16. The White House ... is the first and the most famous national park in the USA

is the largest observation wheel in the world.

oD Q" =H O a W o

is the traditional place of coronation and burial site for
British monarchs.
is the home of the President of the United States.

OO0 dod go

is in Scotland.

N

Task 4. Choose the correct answer A-D.

17. He was D to go to work, so he stayed at home.

A very ill
Bsoill
C tooill

D ill enough
L0
Fagfo) 8
o ol s



18. D you show them the photographs, they’ll never believe you.

A Whether
B Despite
C Unless
D If not

19. ’'m sorry, I |:| to get to change that money for you, I was too busy.

A couldn’t

B didn’t manage

C weren’t able

D haven"t managed

20. If they D some assistance, they ... .

A would want, would ask
B want, would ask

C want, will ask

D would want, will ask

21. New York is D polluted than Athens.

A the most
B more
C much
D little

22, It was named |:| her daughter.

A for
Bin

C after
D behind

23. The Beatles were an D band.

A amazed

B amazing

C amazes

D have amazed

24. Matt is the boy |:| father is a teacher.

A who

B which
C whose
D whom

Task 5. Writing (50-60 words).

E[ﬁ]@]ﬂﬁ@[ﬁ] W 0.C. ITaciuauk, M.H. IIlonyako, M.C. Tpidpan, C.0O. MeabHUK

25. There is a teacher from the USA in your school. He is going to organize an English-speaking club
for students and asked you to write a note. Include the following information:

e who is organizing the club;

e how often the club will meet;

e activities;

e number of students in a group.
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KOHTPOJIbHA POBOTA

BapiaHT 2

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

MOUNT RUSHMORE

In 1923, a man named Doane Robinson had an idea. He wanted to have a large sculpture made in
the Mount Rushmore. As he lived in the South Dakota and was interested in his state’s history, he
thought the sculpture should show heroes of the West, like Lewis and Clark or Indian chiefs. Robin-
son found Gutzon Borglum, an artist to make the sculpture. But Borglum had a different idea for the
sculpture. He thought the sculpture should have American presidents and symbolize American idea of
freedom.

First the artist designed a small model of the sculpture. Then in 1927, he began to work on the
mountain. Over 400 men assisted him. They built stairs to the top of the rock cliff, destroyed the rock
with dynamite and carved it. On October 31, 1941, the sculpture was done. But Gutzon Borglum never
saw the finished sculpture. He died less than a year before it was done. His son helped finish the job.
The sculpture has the faces of four presidents on it. The presidents are George Washington, Thomas
Jefferson, Theodore Roosevelt, and Abraham Lincoln. Gutzon Borglum would be proud to know that
Mount Rushmore is now a national memorial.

1. What kind of heroes did Doane Robinson want the new sculpture to have?

A heroes of the West D
B book heroes

C presidents of the United States

D famous sports heroes

2. Who designed the Mount Rushmore sculpture?

A Doane Robinson |:|
B Gutzon Borglum

C Richard Rushmore

D South Dakota

3. How long did it take to complete the sculpture?

A 41 year D
B 27 years
C 18 years
D 14 years

4. What happened less than a year before the Mount Rushmore sculpture was done?

A There was no money to finish it.

B The workers stopped working on the sculpture.
C The sculpture was destroyed.

D Gutzon Borglum died.

5. What is the synonym for sculpture?

A picture D
B mountain

C statue

D photo



Task 2. Match statements (6-10) to the notices (A-G).

6. Boys will not get this work.
7. You do not have to be late.
8. Not all people may call from here.

9. You must pay before travelling.

10. Put it in a cold place.

[A]Do not get on the train School trip to Science
without a ticket [B|Clothes shop requires an Museum.
assistant. Girls only. No experience Bus leaves FridaySJn\

needed. Send your CV to mary_
@y .
bunks@yahoo.uk L |E|Bookshop — closed J

Friday aftern%

D [Ticket office closed. Buy

your ticket on the train.
.

[G] Telephone for customers’
use only

[F|Keep in fridge after J

opening Y

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

11. Thanksgiving, or Thanksgiving D A is thought to be the one night of the year when ghosts,
Day ... witches, and fairies are especially active.
12. The Day of Independence on D B is celebrated in England on November 5th with fireworks
July 4th ... and bonfires.
13. Halloween ... D C traditionally celebrates the giving thanks for the autumn
harvest.
14. Labour Day ... D D is celebrated in America with parades, shows, bonfires
and firework displays.
15. Gay Fawkes’ Night ... |:| E is an American public holiday when Christopher

Columbus is honoured.
16. Columbus Day (Discovery Day) |:| F is the day when people brighten up their homes with
e evergreens.
|:| G is the day when people express their love for each other
by sending Valentine’s cards.
|:| H is the day when America was discovered by Europeans.

D I is the first Monday in September and includes picnics,
games and activities for children.
|:| J is celebrated on the second Sunday in May.
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Task 4. Choose the correct answer A-D.

17. I didn’t like the film. I thought it was very D

A bore

B bored
C bores
D boring

11
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. Tidy up your room, it’s so D!

A bright
B messy
C dark

D clean

19. Was he the man I:l phoned you?

A whose
B who
C what
D which

20. I couldn’t sleep because of the D wind.

A heavy

B howling
C shaking
D dangerous

1

[0 o]

21. Do you know if your school sports club is inviting any new members? John D to join it, so I said
I would ask.
A is liking
B had liked
C would like
D has been liking

22, I believe mobile phones I:] change the way we live.

0.C. ITaciunuk, M.H. Illonyako, M.C. Tpicdan, C.O. MenbHUK

A certainly could
B will definitely

A Everybody of them
B All the group

C Every people

D Each people

24, D in Europe are excited about the Football World Cup.

A Each country

B Every country

C The whole country
D All the countries

Task 5. Writing (50-60 words).

25. This weekend your school is organizing an Eco-Saturday when students have to clean the territory
of a local park. Write a note and inform your school-mates of the following:

C may definitely
D can definitely
23. D decided to participate in the competition.
@
(1
 —
S

e describe condition of the park;

e when the event will be held;

e necessary clothes and equipment;
e duties — what students have to do.



KOHTPOJIbHA POBOTA

BapiaHT 3

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

ALFRED NOBEL

When Alfred Nobel invented dynamite he became a very rich man. However, he understood destruc-
tive power of his invention too late. Nobel did not want to be remembered as the inventor of dynamite,
so in 1895 he created a fund to award prizes to people who made important contributions to mankind.
Originally there were five awards: literature, physics, chemistry, medicine, and peace. Economics was
added in 1968, sixty-seven years after the first award ceremony.

Every year on December 10, the anniversary of Nobel’s death, the awards (gold medal, diploma,
and money) are presented to the winners. Now the awards are usually from $1,000,000 to $1,400,000.

Sometimes politics plays an important role in the judges’ decisions. Americans have won numer-
ous science awards, but very few literature prizes. No awards were presented from 1940 to 1942 at the
beginning of the World War II. Some people have won two prizes, but this is rare, others have shared
their prizes.

1. When did the first award ceremony take place?

A 1895 I:I
B 1901
C 1961
D 1968

2. Why was the Nobel Prize established?

A to recognize important contributions to humanity D
B to solve political problems

C to honour the inventor of dynamite

D to spend money

3. In which area have Americans received the most awards?

A literature D
B economics

C peace

D science

4. Which of the following statements is NOT true?

A No one received awards from 1940 till 1942. D
B Ceremonies are held on December 10 to honour Nobel’s invention.

C Politics can play an important role in selecting the winners.

D A few people have won two awards.

5. In how many fields are prizes awarded?

A2 []

B5
Cé6
D 10

13

0.C. ITaciuauk, M.H. IIlonyako, M.C. Tpidpan, C.0O. MeabHUK




0.C. ITaciunuk, M.H. Illonyako, M.C. Tpicdan, C.O. MenbHUK

Task 2. Match statements (6-10) to the notices (A-G).

6. You mustn’t give food to animals here.

7. You may leave your younger brother or sister here and go shopping.

8. Go upstairs if you want a drink.

9. Your younger brother or sister cannot play with it.

10. If you get this job you will serve food.

Coffee machine — second

floor
00 Y

11.

12,
13.

14.
15.
16.

[B]Waiter needed for fast food [C]Use our children
restaurant. Work evenings until playground and enjoy
late at night and weekends. your shopping
Telephone: 646329847 -
.

jobs for students.
Cash paid for all jobs.
1\

[D]Joe’s Fruit Farm. Summer

[E|Please, do not feed
the horses

[F|This device is not a toy.
Keep away from children.
.

enter

[G]Only club members mayJ
.

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

DI
DJ

Jack London ... |:| A is known for his stories of American frontier life and pioneer
adventures.
J.K. Rowling ... |:| B is the author of anti-slaver novel Uncle Tom’s Cabin.
Charles Dickens ... |:| C is the American writer and the author of a remarkable story
Love of Life.
W. Shakespeare ... |:| D is an author of the Harry Potter books.
Abraham Lincoln ... |:| E was the first president of the USA
George Washington ... |:| F is the author of the best-loved novels in the English language
(Oliver Twist, David Copperfield).
|:| G professional actor and play writer, founded a theatre and wrote
37 plays.
D H is the author of The Adventures of Tom Sawyer.

was the first Englishman who was awarded the Nobel prize for
literature.
issued a proclamation to say that slavery was abolished.

Task 4. Choose the correct answer A-D.

17. D sportsmen need to train a lot.

A Every B Each
C Either D All

14



18. There is D darkness in this painting, don’t you think?

A too much
B too many
Calot

D afew

19. Please don’t forget to give me a call when you |:| to school?

A will get

C are going to get
B get

D are getting

20. I'm sure I would have regretted it if I D to take part in the play.

A would have agreed
C did agree

B would agree

D had agreed

21. The car D they bought is new.

A what

B who

C which
D whose

22. Nicole used to I:I ballet classes.

A take

B taking

C takes

D has been taking

23. The Beatles D in 1970.

A broke down

B broke off

C broke up

D had broken down

24. U2’s music will |:| forever.

A go
B last

C reach
D continue

Task 5. Writing (50-60 words).

25. You are on a holiday in another country. Write a quick e-mail to your friend and tell him/her:

e where you are staying and what is the weather like;
¢ what you have done these days;

¢ any places of interest there;

e when you are going to come back.

15
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KOHTPOJIbHA POBOTA

BapiaHT 4

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

THE INTERNET

Did you ever think of how the Internet started? In the 1960s the US government had the idea to
connect some of its computers together. That way, the computers could exchange information. Scien-
tists spent several years working on the project. It was difficult, because computers in different places
had never been connected together before. Finally, in 1969 four computers were connected with help
of telephone lines. Three computers were in California. They were in different cities. The fourth com-
puter was far away in another state — in Utah. This was the beginning of the Internet.

Soon many more computers were linked to the Internet. In the 1980s, small, inexpensive compu-
ters were invented. But few people linked their home computers to the Internet. That’s because people
had to type in complicated codes.

In 1991, the World Wide Web was created. It helped make the Internet easier to use. But people still
had to know some codes. In 1992 a new computer program Mosaic was invented. People no longer had
to know codes to use the World Wide Web. The new program let people click on words and pictures.
Then almost anyone could use the Internet.

1. What is NOT true according to the text?

A Government computers were in different states. D
B At first only four computers were connected.

C Computer in Utah was far away and did not work.

D Computers were linked by telephone lines.

2. When were the first government computers connected together?

A 1950 |:|
B 1955
C 1992
D 1969

3. Why did it take several years to link the four computers together?

A The computers didn’t work well. D
B Scientists were working on other projects.

C People didn’t know how to link computers.

D The telephone lines had to be built.

4. Why did it take so long to connect home computers to the Internet?

A The Internet was difficult to use at first. |:|
B There weren’t enough computers.

C People didn’t have enough money.

D People lived too far from the government.

5. What happened when Mosaic was invented?

A Tt was easier to use Internet for people. D
B People had to learn new codes to use the Internet.

C The World Wide Web was created.

D People could create pictures for the Internet.

oy, 16



Task 2. Match statements (6-10) to the notices (A-G).

6. If you need money you have to go to another place.

7. If you are not careful, you might fall.

8. You cannot leave the bicycle here.

9. Here you can learn a foreign language abroad.

10. You pay the same price, but get more.

[A|Rent bicycles. Adults — £4. Orange juice. [ClUnder reconstruction.
Children - £3 10% extra FREE./k Please use anothe%

[D|Ice on road. [E]Learn Spanish in Spain. Madrid
Pay attention while walking. summer school. Apply by mail
il apply@summerschool.es
.
[FINo bicycles against Cash machine not working.
the school fence Nearest machine in Chaplin
Street. Y

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

0.C. ITaciuauk, M.H. IIlonyako, M.C. Tpidpan, C.0O. MeabHUK

11. The English say, “My home ... |:| A is separated from the continent by the English
Channel.
12. The English proverb says, |:| B is America’s best known soft drink.
“East or west ...

13. The UK ... D C is washed by the Pacific Ocean.

14. An afternoon tea in Britain ... I:I D is my castle”.

15. The spectacular Niagara Falls ... D E is to know nothing.”

16. An eagle ... |:| F home is best”. =
|:| G is the official symbol of the USA. DG:ID
|:| H consists of two parts which are separated by Goat [

Island. @
|:| I isthe oldest paper in Britain. 4
|:| J is between 4 and 5 o’clock. 1]

Task 4, Choose the correct answer A-D.

17. D car is that green one there?
A Who
B Who’s
C Whose
D Which

17
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18. I don’t have D money to buy a new computer.

A too much
B very much
C enough

D little

19. Would you like a |:| with your apple?

A bread

B sandwich
C cheese

D soup

20. Simon insisted D paying for the meal for all of us.
A in
Cto

B for
D on

21. Jake is very good at sport D his twin brother Edward is not interested in it at all.

A whenever
C despite

B since

D while

22, The buildings were |:| from side to side.

A cracking
B rocking
C flying

D waving
23. Will you D the match on TV tomorrow night?
A watch
C see
%
o
 —
(5
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B look
D listen to
24. 1 heard the police |:| dozens of people before they made an arrest.

A were interviewed

B have been interviewing
C had interviewed

D was interviewed

Task 5. Writing (50-60 words).

25. Recently you visited your foreign friend in his/her country. Now you want him/her to visit you.
Write a letter to him/her and include the following information:

thank him/her for inviting you;

tell what you liked most in his/her country;

suggest the best time to visit you;

tell him/her what you will show him/her in Ukraine.

,U nt * ’ 18



BIAHK BIOMOBIOEN 3 aHznilicbkoi Mmogu

(nosHa Ha3ea 3a2afibHOOCBIMHL020 Hag4aslbH020 3aKnady)

1. AHKETA 1 8
y4Hs / yyeHuui 10- knacy
Mpi3BuLLe
Im’s
Mo 6aTbKoBI

Mpocumo Bac gaTtu BiAnoBigi Ha 3aNUTaHHA, WO AONOMOXYTb BUABUTU NPOOGNEMM WKiNTbHOro HaBYaHHSA i
BHECTU HeobXigHi 3MiHM AN noninweHHs AKOCTi ocBiTU (BiANOBiAb No3HayTe x a60 HanNuwWiTb):

1. CKinbkun Yyacy BM BUTpavaeTe B cepeaHbOMY Ha AOMalWLlHE 3aBAaHHA 3 UbOro npe,qmeTa?

I:l MeHwe 15 xB I:l no 30 xB I:l no 1 ron |:| noHaa 1 roa

2. CKinbKu Yyacy WoaeHHO BM BUTpayaeTe B cepeaHbOMY Ha AOMAaLLHE 3aBAaHHA 3 yCix npeameTiB?
|:| ©nu3bko 1 rog |:| 0o 2 roa |:| no 3 roa |:| noHapg 3 rog

3. Yn nogoGanucsa Bam Nigpy4YHUKKN 3 aHrMiNnCbKOI MOBMU, .
3a AKUMM BU HaB4Yanucs B 5-9-x knacax? I:l Tak I:I Hi

4. Migpy4HUK 3 IKOro NnpegMmeTa BaM nNofo6aeTbcA HanbGinbwe?

D YkpaiHcbka MoBa D [eomeTpis |:| BcecBiTHs icTopis
|:| YkpaiHcbka niTepaTypa |:| Bionoris |:| IcTopia Ykpainu

D CaiToBa nitepartypa D leorpadgia |:| TpyooBe HaBYaHHSA
D IHO3emMHa MoBa D di3nka |:| XKogeH 3 nepenivyeHnx
|:| Anrebpa |:| Ximig

5. Alkun Baw yno6neHunn npegmet? (Mo3HayTe He Ginblue ABOX.)

D YkpaiHcbka MoBa D [eomeTpis |:| BcecBiTHs icTopis .
|:| YkpaiHcbka niTepaTypa |:| Bionoris |:| IcTopisa Ykpainum

D CgiToBa nitepartypa D leorpadgisa |:| TpyooBe HaBYaHHSA

D IHo3emMHa MoBa D disnka |:| YKogeH 3 nepenivyeHnx

|:| Anrebpa |:| Ximig

6. YkaxiTb (HanuwiTb) BMAKM nitepaTtypu, AKoi Bam 6pakye B NiAroToBLUi A0 YPOKiB.

I:l HayKoBO-MONYNSAPHI BUAAHHS
|:| 30ipHMKM 3aav i BNpaB

I:l po6oui 30WNTKN A4St cCaMOCTINHOT poboTK

|:| iHWe



1 2 3 4 5 6 7 8 9
I'I03HaqTe3HaKOM:xBal.uBAPIAHT DDDDDDDDDD

2. BJIAHK BIONOBIOEN

10

Mo3HayTe 3HaKoOM: x NiACyMKOBY OLIiHKY
3 Uboro npeamMeTa, AKYy BU oTpumanu B 9 Knaci:

10 11 12

12 3 456 7 8 9
oo

Y 3aBgaHHAx 1-5
npaBuUNbLHY
BianoBiab No3HayTe

3Hakom $C

ABCD
1 L0
2 10100
s 101000
4 Q00
s 101010

Y 3aBgaHHAX 6—10
npaBunbHYy BiaNoBiAb
nosHauTe

3Hakom $¢
A B C D E F G

e LUy | nogonnd
ool 200 oot
s g s
o LUy p« oo
oo s

Y 3aBpgaHHax 11-16
npaBunbHY BiaNoBiAb
nosHauTe

3Hakom $C
A B CDETFGH I J

Y 3aBAaHHsAX 17-24 npaBUnbHY BignoBigb
no3HauTe 3HaKOM x

A B CD

1700
1811010
1911010
20 ] ] 000
211000
2 J1010]
23] 000
AN

e 110101l

KinbkicTb 6aniB 3a 3aBaaHHA 3aranbHa PiBeHb HaBYanbHUX OOCATHEHb Y4YHS
(3anosHroe yyumerns, SKul nepesipss) KinbKicTb (y4yumesnb no3Hayae 3HaKoMm x )
6anis.:
1=5 6-10 11-16 17-24 25 MoYaTKoBUA  CepefHii AoCTaTHIn BMCOKUIA
Y4yutenb aHrnincbKoi MoBK )
(nidnuc) (TTIB)




3aBpaHHA 25. HanucaTtu BUcnoBneHHs, BUCBITNIMBLUM 3anponoHOBaHi NyYHKTU, o6¢csirom He Ginbue 60 cnis.




3aranbHa ouiHka KpuTepii 1 Kputepin 2 KpuTtepin 3 Kputepin 4 Kputepin 5
KinbkicTb 6aniB 3a 3aBAaHHA
(3arosHoe yyumeris, 3aranbHa KinbKicTb 6anis:
sAKul nepesipse)
PiBeHb HaBYanNbHUX JOCATHEHb Y4YHS

3ae0. Banu (ydumens nosnadae 3Hakom 3€)
1-5
6-10 royamkosuu cepeoHit docmamHit sucokul
11-16
17-24
25

Yuyntenb aHrnincbkoi MOBM

(nidnuc)

(TTIG)




KOHTPOJIbHA POBOTA

BapiaHT 5

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).
THE STORY OF A TEDDY BEAR

Have you ever thought why the popular toy bear is called a teddy bear? Here is the true story. On
November 14, 1902, Theodore Roosevelt, the 26th President of the USA wanted to relax after some
hard political debates. He went on a hunting trip to a forest in Mississippi. There he saw a little bear
cub, but he refused to shoot it.

Very soon journalists learned about this and one of them made a political cartoon. It showed the
President and a little bear. The idea of the cartoon was to show that the President is an understanding
and kind person who doesn’t make wrong decisions. The cartoon was printed in all the newspapers and
President Roosevelt’s popularity grew even more. For the rest of his political career little bear was the
symbol of President Roosevelt. It was used during the successful election campaign of 1905.

Shop owner, Mr. Mitchom, had a clever idea. He used the cartoon as a guide to design a toy bear. He
called the toy “Teddy’s Bear” (Teddy is short for Theodore). People liked the toy and bought a lot of
them. It became so popular that in a year Mr. Mitchom closed his shop and founded the Ideal Novelty
and Toy Company, which was the largest bear factory in the United States and still is one of the big-
gest toy companies in the world today.

1. Why did the President decide to go hunting?

A He wanted to shoot some animals. D
B The President wanted to have a rest.

C Journalists wanted to take a photo of him in the forest.

D He wanted to see a bear cub.

2. Why was the cartoon created?
A to show positive qualities of the President D
B to solve political debates
o
 —
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C to entertain people
D to make money

3. What happened when the cartoon with the President was printed?

A Theodore Roosevelt became more popular. D
B The journalist lost his job.

C People stopped hunting bears.

D The bear became the symbol of a newspaper.

4. Why did Mr. Mitchom close his shop?

A He decided to start a new business. D
B People did not want to buy things in his shop.

C He wanted to become a politician.

D He decided to retire.

5. What is NOT true according to the text?

A The President went hunting in autumn. D

B The President didn’t shoot the bear.

C Teddy is short name for Theodore. =
D Mr. Mitchom designed the toy bear before the cartoon was printed. 5
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Task 2. Match statements (6-10) to the notices (A-G).

6. You do not have to be late.

7. If you lost a book call this number.

8. Children older than ten years have to pay.

9. Parents are looking for someone to look after their child.

10. This is only for young people.

Swimming pool: Little Donny needs a babysitter.
CHILDREN Ol\g\ Work: Saturday and Sunday evening.
Contact us by phone: 98778676.
/K
Dictionary found. Phone [D]School trip to Science
Simon (6798809) to get it back. Museum. Bus leaves Friday 8 am
. .
[ElLost black cat. [F]Zoo: Free entrance for ’ [G|Bookshop - closed Friday
£100 reward. Phone any time children under 10 _ - afternoon
67890790. Ask Lanny.
/K

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

11. Coca Cola ... D A is a favourite dish on American tables.

12. Classical apple pie ... |:| B like home”.

13. Potato chips ... |:| C is the number one drink in Britain and the
average person has about four cups a day.

14. The English say, “An apple a day ... |:| D became America’s favourite between-meal
snack in the 19th century.

15. Hamburger ... |:| E keeps doctors away”.

16. The Englishmen say, “There is no place ... |:| F comes with eating”.
D G is America’s best known soft drink.
D H is America’s favourite hot sandwich.
|:| I is asausage in a long bread roll.

|:| J were great favourites in Victorian England.

Task 4. Choose the correct answer A-D.

17. My sister and her boyfriend are getting D next year.

A marry

B marries
C marrying
D married

! T
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18. We moved to this city three years D

A ago
B behind
C last
D passed

19. Have you |:| met a famous person?
A yet
B still

C ever
D only

20. You're so late! What D you?

A kept

B is keeping
C was keeping
D has kept

21. There is |:| furniture in this room so we can’t dance here.

A too much

B too many

C more

D a great number

22. Both of my brothers |:| playing basketball.

A likes

B are liking
C like

D don’t like

23. Tom was cooking D I telephoned.

A what

B when
C which
D whom

24. The bus stop is not far I:I our house.

A away
B from
C off
D out

Task 5. Writing (50-60 words).

25. .Your friend invited you to his/her birthday party, but this time you cannot come. Write an e-mail
to him/her. Include the following information:

thank him/her for inviting you;

explain why you cannot come;

congratulate him/her;

tell when you will be able to come to him/her and congratulate in person.
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KOHTPOJIbHA POBOTA

BapiaHT 6

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

CHRISTOPHER COLUMBUS

Christopher Columbus was born in Genoa, Italy in 1451. As a teenager he travelled the seas and
thought that the earth was round. He believed that people could get to India if they travelled to the
west. He asked the kings of Portugal, France and England to finance his westward trip to India, but
all of them refused. After ten years King Ferdinand and Queen Isabella of Spain agreed to finance
Columbus in the hopes to get great wealth. On August 3, 1492, Columbus and three ships, the Nifia,
Pinta, and Santa Maria left Spain and travelled to the west. The sailors were afraid of sea monsters
and didn’t want to travel. Columbus offered a reward for the first person to see the land. On October
12 a crew member aboard the Pinta saw one of the Bahama Islands. He named the land San Salvador.

Columbus didn’t find the riches he expected, and continued to look for India. He visited Cuba and
Hispaniola (Dominican Republic). He met native peoples who he named “Indians” because he believed
they were inhabitants of India. Columbus returned to Spain a hero. He made one of the greatest dis-
coveries in the history of the world — North America. Though he probably wasn’t the first explorer to
see the continent, he believed until his death that the islands he saw were in the Asian continent.

1. Who supported Columbus’ westward trip?

A the king of Portugal D
B the king and the queen of Spain

C the king of Italy

D the king of France and the Queen of England

2. Which of the following was NOT the ship of Columbus?

A the Pinta |:|
B the Nina

C the Santa Maria

D the San Salvador

3. How old was Columbus when he discovered America?

A 41 []

B 35
C51
D60

4. What happened last?

A October 12, 1492. |:|
B King Fedinand and Queen Isabell agreed to pay for the trip.

C Columbus left Spain on his ships.

D Columbus asked the kings to finance his voyage.

5. What is TRUE according to the text?

A Columbus is the first person who discovered America. D
B Columbus was Spanish.

C The sailors were afraid to travel with Columbus.

D Columbus was happy to know that he discovered America.



Task 2. Match statements (6-10) to the notices (A-G).

6. This place is locked at night.
7. You will need your raincoat and umbrella.

8. In the evening children cannot stay in this place.

9. If you need an umbrella you have to pay for it.

10. Call this person if you need someone to help you organize your birthday.

Open 24 hours a day [B|Today’s weather: strong ’ [C]After 8 pm persons ’
wind, rain, temperatuw under 16 NOT to entﬁ\

N\

Help with cooking. Vanessa and cookies

699076567 N\

@Organize parties and activities. IETry our home made breadJ
e

Beach umbrellas for hire
/\

[F]Door locked after 10 pm.
Ask for key before going out.
/\

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.
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11. Ben Nevis is ... |:| A in the countries of the British Commonwealth.

12. Edinburgh is ... |:| B in a stony house in Dublin, Ireland

13. Boxing Day is celebrated ... |:| C don’t carry guns.

14. The most famous shop in London is ... |:| D the highest mountain in Great Britain, standing
at 1,344 metres above sea level.

15. William Shakespeare was born in ... |:| E always carry guns.

16. Policemen in England ... [ ] F Harrods that offers everything from food to
fashion.

|:| G a half-timbered house situated in Henley Street
in Stratford-upon-Avon, England.

|:| H the capital of Scotland, one of the most beautiful
cities in Europe.

|:| I only in the UK and Ireland.

|:| J the biggest lake in Britain, which covers an area
of 71 square kilometres.

Task 4. Choose the correct answer A-D.

17. My cousin D on the ice and broke his leg.

A felt

B fallen
C fell

D did fell
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18. Is that dress D?

A you

B your

C yours

D yourself

19. She’s worked here |:| five years.

A since
B for
C from
Din
20. Are you D get up soon?

A will

B be
Cgoto

D going to

21. My brother wants D an actor.

A become

B becoming

C to become

D for becoming

22, Do you mind |:| I open the window?

A when
Bif
C that

D how
é 23. Angela D lots of clothes so far.

A bought

S
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B buys
C has bought
D is buying

24. Jane wants to |:| tennis this summer.

A take back
B take up

C take off

D take down

Task 5. Writing (50-60 words).

25. Your foreign friend has asked you to tell him/her about you music tastes. Write a letter to him/her
and say:

your favorite style of music;

favorite singer;

tell him/her if you can play any musical instruments;
when you usually listen to music.
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KOHTPOJIbHA POBOTA

BapiaHT 7

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

MARIE CURIE

Marie Curie was born in Poland in 1867. As a young girl, she loved science and math. After school
she wanted to attend college. But women weren’t allowed to go there. So, Curie studied science and
math on her own.

Later, Curie moved to France. She was able to go to a college there. The college was called Sorbonne
University. Other students knew more about science and math than Curie did. So she studied hard and
was the best student in her group. Later she married a scientist. His name was Pierre. After college
Curie became interested in a new type of energy. It is called radioactivity. She wanted to know more
about radioactivity and how it could be used. Curie worked with radioactive substances. In 1903 Curie
got a Nobel Prize for her work in radioactivity. She was the first woman to get it.

In 1906 Curie started teaching at Sorbonne. She was the first woman teacher there. Curie was also
the first person to have a second Nobel Prize. She got it because she discovered two new substances:
polonium and radium. After that Curie helped start the Radium Institute. Scientists and doctors
worked at the Institute. They studied radioactivity. They also used radium to treat cancer patients.
Curie worked at the Institute until she died in 1934.

1. Why did Marie Curie study science and math on her own after school?

A She didn’t like being at school. I:I
B Women couldn’t go to college in Poland.

C She did not finish school.

D She lived too far from college.
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2. What two things did Curie do at Sorbonne University?

A She went to college there and later taught at the university.
B She went to college and married Pierre.

C She went to college there but was unable to graduate.

D She protested that women could not attend that college.

3. What is radioactivity?

A a new substance
B a type of college
C a type of energy
D a kind of science

4. How old was Marie Curie when she died?

A 34 B 67
C 32 D 43

5. What is NOT true about Marie Curie?

A She was the first woman to get a Nobel Prize. D
B She was the first person to get two Nobel Prizes.

C She was the first woman who studied at Sorbonne University.

D She was the first woman to teach at the Sorbonne. =
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Task 2. Match statements (6-10) to the notices (A-G).

6. Students pay less here.

7. If you keep a book longer you will have to pay money.

8. If you need a job phone this number.

9. It is cheaper if you buy several of them.

10. You mustn’t take too many clothes to try on.

11

12
13

14
15
16

[A]Cleaner wanted. [B|Swimming Pool. [C]Levis Jeans.
Will pay 6$ per hour. Use your student’s card to No more than 3 pairs in
Call 9808907. get a 50% disco% the changing room.

D] This June. Buy 5 bottles of
milk and get one free.

to shelves after use.

[E]Student library. Return booksJ

[F]School uniform [G]Books must be returned
department — second floor in 10 days. Fine - £1 per day
/K /K

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

. 10 Downing Street is known as ...

. The oldest university in the UK is situated ...

. Snowdon is ...

. The most traditional Christmas dish is ...

. Cardiff is the capital of ...

. Margaret Thatcher is the first lady ...

the highest mountain in Wales, standing
at 1,085 metres above sea level.
an oven-roasted turkey.

the official residence of the British Prime
Minister.
Wales.

Member of the Parliament in Britain.

Bo aw »

F in Oxford, a home to royalty and scholars.

G mustard, lemon and rosemary roast
chicken.
H Prime Minister in Britain.

I in London, the capital of the country.
J Scotland.

OO0 Oood gdo O

Task 4. Choose the correct answer A-D.

17. — “That’s the new manager, D?”

— “Yes, that’s him.”
A is he

Bisn’tit

Cisit

Disn’t he
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18. My mother entered University after D school.

23. D teenagers know how to use the Net.

A Each

B Every
C Most

D Most of

24. 1 didn’t like the film I thought it was very I:l
A bore
B bored

C bores
D boring

el
=
jas]
Yo
=
)
A left =
B has left o
C to leave o
D leaving =
jas)
19. I don’t know |:| people at this party, do you? ,_g
2
‘]: much &
many .
C few &)
D less =
20. We met a girl D father was a diver. g
A which 5
B that g
C whose a
D who ]
: . o
21. Annie D the rubbish away yet. 2
A threw -
B hasn’t thrown S
C thrown ?
D had throw ©
<
22. John |:| over to the side of the road to have a rest. t::
A handed 2
B came o
C pulled
D crossed é
0
m
—
(5

Task 5. Writing (50-60 words).

25. Recently you watched a film and now you want to write an e-mail to your friend about it. Include
the following information:

where you watched the film;
who played the main role;
what the film was about;

if you liked the film.
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KOHTPOJIbHA POBOTA

BapiaHT 8

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

WILLIAM SHAKESPEARE

William Shakespeare, the greatest English writer of drama, was born in 1564 in Stratford-on-Avon.
We do not know everything about Shakespeare’s early life. But we know that he studied at the Gram-
mar School in Stratford, and that he became interested in the theatre when he was still a boy. In 1586
Shakespeare went to London, where he worked in the theatre for some years before he began to write
his own plays. Shakespeare soon became well-known in London literary circles. Every play that he
wrote was good news to the people of the capital. Queen Elizabeth I liked Shakespeare’s plays, and the
actors were often invited to play before the Queen and later before the King James — a great honour
in those days. By the end of the 16" century Shakespeare and his friends had enough money to build
their own theatre — the famous Globe Theatre.

But Shakespeare had quite many difficulties in his life. Less talented writers, whose plays were
worse than his, often quarreled with Shakespeare and attacked him, the actors in his own theatre
sometimes turned against him. Now people in many countries love and honour Shakespeare for his
plays, comedies and tragedies that are still modern and well-known all over the world.

1. Shakespeare was especially good at ... .

A novels D
B detective stories

C mystery plays

D dramas

2. What is the WRONG statement?

A In his childhood Shakespeare got interested in the theatre. |:|
B The King and Queen of England liked his plays.

C Shakespeare was widely known for his Globe Theatre.

D Shakespeare had difficulties in his life.

3. What kind of man was Shakespeare?

A He was a man who liked to quarrel with people. D
B He was a man who was fond of collecting money.

C He was a man who tried to perform only in the king’s palace.

D He was a man who wrote many plays and acted himself.

4. Why do you think Shakespeare is well-known throughout the world?

A He was an English writer. |:|
B His actors disliked him.

C He built his own theatre.

D He wrote a lot of brilliant plays.

5. The text is about ...

A the life of English people in Shakespeare’s time. D
B the queen’s and king’s life.

C the life of a famous British play writer.

D the writers who lived in England in the 16th century.
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Task 2. Match statements (6-10) to the notices (A-G).

6. Contact this person if you play music and want to work with music.

7. You cannot have lunch here.

8. You have to wait here before you sit down.

9. You are too late to get a seat in the show.

10. You cannot be here on Saturday.

Computer room — [B Learn to play guitar in [C|Please wait for the waitress
no food or drinks in% 5 mgil(‘;hg \éidelc)) cour‘sle - to show you to your seats
- Order by mail
[D|New night club opening. [E| Café Santos. [F]U2 concert. Sorry.
Experienced DJ WANTED. Open weekdays. 8 am till 5 pm All tickets sold.
Write to Mike Swan at —\ i
mlbnd@musicworld.uk
. [G]Please show the ticket
at the museum entrance
/\

Task 3. For beginnings 11-16 choose the correct endings A-J. There are four
choices you do not need to use.

11. A double-decker is ... France in recognition of international friendship
in 1986.

Tony Blair.
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12. The Statue of Liberty was presented to
the USA by ...

13. The current Prime Minister of Britain
is ...

14. The legend says that the Tower of
London will fall without ...

15. The Tube is the London ...

16. The kilt is the national ...

doves (small white pigeons often used as a sign of
peace).

a red bus often used for touring rather than for
mass transit in London.

costume traditionally worn by Scottish men.

David Cameron.

underground which carries more than one billion
passengers a year.
ravens (large shiny black birds).

musical instrument the Scottish people play.

OO oogd o o o O
= m a==E 9 a = »

J asandwich with fried egg, tomato and cucumber.

Task 4. Choose the correct answer A-D.

17. — “You’re at home so early.”

— “Well, there D nobody at the lecture so I left.”
A wasn’t

B were

C weren’t

D was

29



mailto:mlbnd@musicworld.uk

18. I play basketball twice D week.

Aa

B the

C in the
D for a

19. He expects |:| his English test.

A I would pass
B passing

C to pass

DI pass

20. We're going to a mountain D

A resort
B caravan
C facility
D rest

21. We’ve already tried the D dishes.

A village
B town
C local
D city

22, I tune |:| to Radio 2 every morning.
A on
Bin
Cup

D behind
é 23. She taught D how to use a computer.

A herself

S

)
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B himself
C myself
D themself

24, He |:| me of my uncle.

A looks
B reminds

C remembers
D tells

Task 5. Writing (50-60 words).

25. Your foreign friend is learning Spanish at school. He/she says that it is difficult for him/her and
wants to improve it. Write a letter to him/her and give some advice on how the following can be
helpful:

take extra classes;

spend time watching Spanish films and reading Spanish magazines;
try not to be afraid of making mistakes;

chat with Spanish friends.
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KOHTPOJIbHA POBOTA

BapiaHT 9

Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).
WORKING ABROAD

Jonathan Palmer, 40, is a graphic designer from England. He moved to Germany four years ago and
started his own advertising company. He says that Germany is a good place to work in advertising be-
cause the Germans think the British are very creative.

Jonathan had studied graphic design in England and had worked for eleven years in companies
around the country. But he wanted a different lifestyle and decided to look for work abroad. He admits
that his poor level of German was a big problem, although before moving to Germany he had attended
six-month language courses. But even after that he couldn’t speak the language well. He says that if
you want to get a good job in another country, you have to be able to speak the language well. Why did
he go to Germany? Jonathan says that nowadays many people from the UK are leaving their country
in large numbers because they want to work abroad. In the past most of them headed for English-spea-
king countries like Australia and America. Now, thanks to new work regulations it is easier to work in
any country of Europe.

Another problem he had there was getting used to new traffic rules as in Britain you have to drive
on your left while in other countries of Europe you have to do it on the right.

1. Before moving to Germany Jonathan Palmer ...

A had learned the German language at University. I:l
B had worked in different places.

C had his own advertising company.

D had lived in Australia and America.

2. Jonathan Palmer decided to work abroad because ...

A he wanted to learn other languages.

B he didn’t have work in Britain.

C he wanted to try something new.

D a German advertising company offered him a job.

3. Why do the British choose Germany for work?

A People in Europe speak English well.

B Now it is easier to find work in Europe.
C It is easy to start business in Europe.
D They want to travel.

4. What is the WRONG statement?

A The British think that the Germans are very creative.
B Britain and Germany have different traffic rules.

C Jonathan Palmer is a designer.

D Jonathan Palmer has worked in Germany for 4 years.

5. What does the underlined phrase in the text mean?

A lived D
B travelled
C worked
D thought
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Task 2. Match statements (6-10) to the notices (A-G).

6. Today you cannot travel there.

7. Go there if you lost something.

8. Not all people may call from here.

9. You cannot play football here.

10. They will teach you what and how to do.

No ball games in the yard ’ [B|Professor Higgins will have [C]Telephone for customers’
Y his classes tomorrow use only

N\

Mrs. Hilton in the staff room because of bad weather
e e

[D]Found student’s bag. AddressJ [E|No boat trips to Lizard IslandJ

[F|Brazilian coffee — [G]Vacancy of a shop assistant.
Opening hours 8 am ﬂr{l No expgrience needed.
Free training. Call 679%

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

11. The most popular hero of English ballads is ... |:| A a military policeman.
12. MP stands for ...

0.C. ITaciunuk, M.H. Illonyako, M.C. Tpicdan, C.O. MenbHUK

B Buckingham Palace.

C a highly skilled archer and swordsman
Robin Hood.
D Caernarvon Castle.

E the Tower of London.

F a member of the parliament.

G Westminster Abbey.

16. The crown jewels are kept in ...

H the red rose that comes from the history
of the country.

I the Union Jack, the origin of which dates
back to 1603.

J the shamrock, which refers to the young
springs of clover.

13. The symbol of England is ...
14. The British Flag is commonly known as ...
15. Elisabeth II, the Queen of Great Britain,
lives in ...

%
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(5

OO 0Oono dd ot

Task 4. Choose the correct answer A-D.

17. You've got to get up early tomorrow so don’t forget to D your alarm clock.

A put
B set
C rest

! T
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18. What a grey day! It’s very D .

A sunny
B cloudy
C cloudless
D bright

19. The children |:| a lot of noise at the moment.

A making

B are making
C have made
D makes

20. That room ... before we move into the flat.

A have to paint

C must be painting
B will paint

D must be painted

21. — “Shall we go out tonight?”

—“No, I’d rather I:l a meal at home.”
A cook
B had cooked
C cooked
D to cook

22. I’'m younger than Jason, I:]?

A aren’t]
B I am not
Caml
Ddon’t]

23. I think I have been married D 10 years now.
A from
B for
C by
D since

24. |:| is your grandfather?

AWhat time

B How old

C Which age
D How much

Task 5. Writing (50-60 words).

25. Next summer you are going to learn the English language in one of British summer schools.
Contact organizers and ask them about the following:

E[ﬁ]@]ﬂﬁ@[ﬁ] W 0.C. ITaciuauk, M.H. IIlonyako, M.C. Tpidpan, C.0O. MeabHUK

price of the course;

accommodation where to stay;

things you have to take with you;

activities you will have in the summer school.
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Task 1. Read the passage and answer the questions 1-5 (only one answer is
possible).

A STORMY DEBATE

One of the worst storms ever to hit the United States was Hurricane Katrina in August 2005.

The storm flooded 80% of the city of New Orleans. The tsunami in the Indian Ocean in December 2004
was also a huge disaster that killed 230,000 people. But the reasons for terrible weather conditions
have led to a lot of disagreement between scientists and meteorologists around the world.

Some experts say that in the past 100 years there haven’t been any real major changes in the
weather. They say that harsh weather is something that occurs naturally and that it isn’t getting any
worse. The reason that people think it is getting worse is due to the fact that, nowadays, there is more
information on weather events around the world in newspapers, on the radio and on television.

There are, however, scientists who believe that global warming is affecting the climate. They be-
lieve that greenhouse gases are responsible for making the Earth warmer. Which theory do you agree
with? The truth is, with more research and discussion into the reasons for harsh weather conditions,
the brighter the world’s future will be.

1. Because of Hurricane Katrina ...

A most of New Orleans was covered in water. D
B New Orleans was hit by a tsunami.

C New Orleans lost 80% of its water.

D 230,000 people were killed.

2. Experts around the world ...

A agree on the reasons for bad weather. |:|
B do not agree on the reasons for bad weather.

C are meteorologists.

D are changing the weather.

3. According to some scientists, in the past 100 years ...

A there are more cycles. |:|
B there have been more tsunamis.

C people have been watching too much television.

D the weather has not become worse.

4. One reason for the harsh weather could be because ...

A there is more information about people. |:|
B we see and hear more about the weather.

C more people travel around the world.

D we don’t read enough newspapers.

5. Some scientists believe global warming ...

A is affecting the climate. D
B is not hurting the environment.

C is a reason for the change in summers.

D is producing greenhouse gases.
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Task 2. Match statements (6-10) to the notices (A-G).

6. There you will get a driving license.

7. In this shop you have to pay in cash.

8. Not all drivers can stop here.

9. You cannot enter the shop with your bags.

10. You will not be able to wash yourself for a few days.

[A]Parking for police [B|Attention!!! [C|Driving school invites students.
cars only/\ Leave your bags in the storage Lessons begin 1 May.
chambers Y Phone 980987 Y
[D]Credit car;isdare not [E|Sorry no shower in the Sports
accepte Center this week
. )
[F|Please switch off you mobile [GINo dogs in the
phone during the journey supermarket

Task 3. For beginnings 11-16 choose the correct endings A—J. There are four
choices you do not need to use.

11. The UK consists of ... Christopher Columbus, a famous explorer who realized
that the world was round.

Lewis Carroll.

Amerigo Vespucci, an Italian explorer, financier, navigator

and cartographer.

three parts.

a bagpipe, in which air blown into a bag is forced out
o
 —
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12. The American continent was
discovered by ...

13. The leader of the music group
“Beatles” was ...

14. A famous national Scottish
musical instrument is ...

15. “Alice in Wonderland” was
written by ...

16. The longest river in the UK is

H O a w8 »

through pipes to produce the sound.
F four parts.

G the Thames, which flows through southern England.
H John Lennon.

I the Severn, which runs from the Welsh mountains to
Bristol Channel.
J aviolin, a small wooden instrument.

Do doogoond

Task 4. Choose the correct answer A-D.

17. — “Do you like classical music?”

— “Yes, but I prefer jazz I:l classical music.”

A than B to
C from D rather
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18. The shop I:l I bought this coat has closed.

A whose
B that
C there
D where

19. I wish I D to paint this blue. It looks terrible.

A didn’t decide

C hadn’t decided
B wouldn’t decide
D wasn’t decided

20. Do those people have D money to invest in the company?

A many
Balot
C lots
D much

21. They |:| we had our own shop.

A hasn’t known
B didn’t know
C not known

D never know

22. When Tom was a small child, he D spend hours every day playing with his toys in the garden.

A used
B would
C was

D should
23. Did you have any problems |:| the museum?
A find
Q B to find
V)
o
 —
)
(5
]
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C finding
D for finding
24, D was the weather like when you were on holidays?

A What
B How
C Where
D When

Task 5. Writing (50-60 words).

25. You spent summer holidays in a foreign country. But you didn’t like the service. Write a letter to
the travel agent and tell them what you didn’t like. Include the following:

¢ air-conditioning did not work;

¢ you did not like the food;

o dirty hotel room and noisy neighbours;
e impolite guide.
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